SANT NIRANKARI PUBLIC SCHOOL
HOLIDAYS HOMEWORK (2018 - 19)
CLASS-V
SUBJECT - ENGLISH
GRAMMAR
NOUNS
Q1 Underline the nouns in each of the following sentences given below:

1) Mother will make a few sandwiches.
2) Wolves are dangerous beasts.

3) Everyone loves her innocence.

4) The doctor examined the patients.

Q2 Circle the common nouns and underline the proper nouns in the following
sentences:

1) Sachin Tendulkar is a famous cricketer.
2) Raghav and Sumit are good friends.

3) Vidhi wants to be a well known doctor.
4) The TajMahal is in Agra.

Q3 Underline the abstract nouns in the following sentences:
1) I like Raj’s honesty.

2) My mother gave me some necessary advice.

3) My grandfather always believed in truth.

4) She could not speak because of fear.

5)Everyone knows about her kindness towards dogs.

Q4 Change the underlined nouns into their plural forms :1)Give the scissors.

2) We found the knife in the kitchen.

3) The ox scared away the dog.

4) | have hurt my foot.

5) The soldiers fought with the enemy.

Q5 Change the underlined nouns from masculine to feminine gender and rewrite
the sentences:

1) Ournephew went to Dubai. 2) The queen is
riding a horse. 3) Thewashermanwashed

clothes.




4) The princess had a lion.

5) The waiter was very cordial.

PRONOUNS

Q1 Look at the underlined pronouns and state their cases. Write S for subjective,
O for objective and P for possessive cases.

1) The teacher taught them a lesson.

2) The book he is reading is ours.

3) He gave a nice to gift to Riya.

4) They gave the beggar some money.

5) Where is my pen? | kept it in the drawer of the table.

Q2 Fill in the blanks with suitable relative pronouns:

1) Please listen carefully to | am saying to you.

2) The items | need are available only in a big shop.
3) The one works hard always succeeds.

4) All | told him was to try harder.

5) This is the boy father is a dentist.

Q3 Fill in the blanks with suitable possessive pronouns :1) Is this pen
?

2) | can lend you this pen as it is .

3) Asha and Sunaina live together. IS a joint family.

4) The camel fell down and broke legs.

5) Naina bought this box, so it is

Q4 Fill in the blanks by choosing the correct reflexive pronouns:

1) | helped (yourself / myself).

2) Suhani organized the party ( themselves / herself).

3) They helped (ourselves / themselves) at the dining table.

4) We managed the show (yourselves / ourselves)

5) You should go ( myself / yourself) and look for the lost puppy.

Q5 Pick out the pronouns in the following sentences and say whether they are
personal, reflexive, possessive, relative, demonstrative, interrogative or indefinite
pronouns:

1) This pen belongs to Raj.

2) We helped him with the work.

3) Who is the captain of the team?

4) | did the work myself.

5) The red handbag is hers.

6) Somebody is knocking at the door.

7) The woman who writes stories is a doctor.




LITERATURE

DO THE LITERATURE ASSIGNMENT IN A SEPARATE SMALL COPY.
L-2: VISITING FRANCE

Read the following lines from the lesson named ‘Visiting France’ and answer the
guestions that follow.

1) As the taxi took them into Paris, MrRajan started to tell his daughters something
about France.’It's about one-fourth the size of India, he said. ‘it is among the largest
countries in Europe; Russia is the largest.’MrRajan went on to say that, unlike India,
France isn’t crowded.There is plenty of room for everyone. There are forests and farms
in France. So, there is no shortage of good vegetables, fruits, grains, meat and fish to
eat.’France has snow-capped mountains called the French Alps. France also has broad
rivers and plains where cattle graze on luscious grass. Dairy farming is also popular as
the French love cheese; it is a part of their diet. On sunny hillsides, juicy grapes from
vineyards are harvested and pressed into wine, for which France is famous.’ added
MrRajan..

i) Why is there no shortage of good vegetables, fruits, grains, meat and fish to eat ?

i) What are the two things France is famous for ?

iii) Why is Dairy farming popular in France ?

iv) Write true or false .

a) France is about one-third the size of India.

b) France has snow-capped mountains.

v) Find and write the synonyms of the following words from the above passage.

a) biggest b) famous

2) ‘Yes, that’s right ,’ said MrRajan . ‘The Eiffel Tower is a symbol of France just as the
TajMahal is a symbol of India.’ Paris is a very beautiful old city.lts white stone gleam in
the sun.The people love the outdoors, especially the parks and gardens. There are
parks and gardens. There are are parks with ponds where the children sail toy boats.In
some of the parks, there are rows of trees and flowers everywhere.Some of the trees
are soi trimmed that they look huge , green lollipops .The city is well-maintained, which
is why the people of Paris are proud of their city. It is also the reason why tourists love
to visit this city and speak highly of it. TheRajans’ taxi crossed a bridge over the Seine,
the river that winds through Paris like a wey, grey ribbon.They got out of the taxi and
joined the people on the crowded street.They passed sidewalk cafes where people sat
at little tables outdoors, eating, drinking and talking.

() What is the symbol of France just as the TajMahal is the symbol of India?

(i) How do the people of Paris show that they care about their city ? List two ways they
do this.

(iif) Why do tourists speak highly of this city and love to visit it ?

(iv) What are sidewalk cafes and what do people do here ?

v) Find and write the synonyms of the following words from the above passage.

a) adore b) shine  ¢) small



POEM : THE BEAUTIFUL SPRING

Q.Read the following stanzas from the poem , and answer the questions that follow.

1) ‘l was here first ,” said the snowdrop: ‘look!’
‘Not before me!’ sang the silver brook.

‘Why,’ cried the grass, ‘I've been here a week !’
‘So have |, dear, ‘sighed a violet meek.

‘Well,’ piped a bluebird, ‘don’t leave me out !
‘| saw the snow that lay round about.’

‘Yes,’ chirped a snowbird, ‘that may be true;
But I've seen it all the bleak winter through.’

(Name the different characters conversing with each other in these stanzas.

(i) What was the argument going on between these characters ?

(iif) Find and write a word from the above stanzas which means opposite of pleasant.
(iv) Find and write two pairs of rhyming words from the above stanzas.

(v) Make sentences for the following words.

(@) meek (b) bleak

2) | came betimes, ’ sang the southwind, ‘I !’
‘After me , love !’ spake the deep blue sky.
‘Who is it cares ?’ chimed the crickets gay:
‘Now you are here ,let us hope you'll stay.’

Whispered the sun, ‘Look ! The winter’s past:
What does it matter who's first or last ?Sky,brooks, and flowers, and birdies that sing,
All help to make up the beautiful spring.’

()Name the poem and the poet.

(inHow did the crickets put an end to the discussion ?

(iif) Who all help to make the spring season beautiful ?

(iv) Who settles the disagreement and how ?

(v) Find and write the antonyms of the following words from the above stanzas.

(a) late (b) shallow
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SUBJECT — MATHS

DO THE ASSIGNMENT IN A SEPARATE SMALL COPY.

CH-1 (NUMBERS AND NUMERATION)

Q1: Write the place value and face value of the underlined digits:
a) 37,293 b) 5,64,290

Q2: Write the following in words: (International system)
a) 235,178 b) 18,357,099
Q3: I am a 6-digit number:

a) My hundred place is thrice the tens place -

b) My ten thousands place is 7-

Q4: Fill in the blanks:

a) I million=____  lakhs

b) crores = 100 millions
c¢) 10 millions = crore

d) 100 lakhs = millions

Q5: Write the smallest and greatest 7 — digit numbers using the digits:
a) 2,9,7,5,0,3 b) 8,6,1,0,2,5,4
Q6: Write the following in figures:

a) Two crore seventy five lakh three thousand twenty one -

b) Seventy nine million three hundred fifty nine thousand two hundred ninety one -

Q7: Find the difference between the place values of the two 6s in 46,56,900
Q8: Write the predecessor and successor of the following numbers:

a) 9,81,060 b) 19,252,300

Q9: Find the product of the place value and face value of 5 in 33,65,106.
Q10: Write the following numbers in short form:

a) 60,00,000 + 8,00,000 + 20,000 + 2,000 + 300 + 60 + 5 =
b) 10,00,00,000 + 7,00,000 + 50,000 + 2,000 + 40 + 4 =




CH -2 (ROMAN NUMERALYS)

Q1: Write the equivalent Roman numeral:
a) XLII + XXIX =

b) MCC + CL =

c) XC - XXI =

d) M — DXVI =

e)L—IX=

fyDL+ CC =

Q2: Write each of the following in Roman numerals:

a) 61 = b) 280 =
€) 334 = d) 165 =
e) 579 = e) 120 =
f) 1038 = g) 1368 =

Q3: Circle the incorrect Roman numerals:

a) DD Vi IC CIX
b) XXII CCcv VVV ID
Q4: Match the following:

a) 189 MXXIX
b) 366 CXVIII
c) 1029 CCCLXVI
d) 118 DCIV
e) 604 CLXXXIX

CH -3 (ADDITION AND SUBTRACTION)

Q1: Fill in the blanks:
a) 29,221,628 — 1,000 =

b) 8,17,235 + 3,28,138 = 3,28,138 +
€) 69,999 +1 =
d) 99,879 + 0 =

Q2: An NGO planted 384278, 543297 and 605986 trees in three years. What was the
total number of trees planted in three years.

Q3:Fill in theD with correct digits:

L] [] L] L1 O
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Q4: Subtract the following and check your answer:

a) 9,46,83,578 — 5,00,71,311
b) 18,87,250 — 8, 58,911
Q5: What should be added to 2,80,98,375 to get 6,66,66,6667

Q6: The total population of a town is 2,20,681. There are 1,00,009 males in the town.
How many females are there in the town?

CH =5 (SIMPLIFICATION)

Q1: Simplify:
a)(7+7TX7 +7-7)-(5-5+5X5+5)
b)15+24+3-1X3
C) 22+[2+{12 (14 -4 +10) = 12}]
d)30 X2 + 18 +3—48
e) [100 — {80 + (20 X 2)}] + 3
6—-{(2+3-2)X4-7}+8]
Q2: Fill in the blanks using +, -, x or +
a)8l+d | 3=27
b)ys[ ] 2-4=12
)33 ] 11-1=2
d)49 +7[ ] 3=21
e)16[ | 2-8=10
f)45+15[ | 0=3
SUBJECT - SCIENCE
DO THE ASSIGNMENT IN A SEPARATE SMALL COPY.
CH =1 (GROWING PLANTYS)
Q1: Fill in the blanks:
a) The store food for the developing baby.
b) and are plants whose seeds are dispersed by water.

c¢) In potatoes, small buds are called .
d) Farmers use and to plough their fields.




Q2: What is agriculture?

Q3: What are weeds?

Q4: Name two plants which grow by layering.
Q5: Name the different parts of a seed.

Q6: Why is it necessary to scatter the seeds?

Q7: Match the seeds with their corresponding dispersal method:

a) Balsam water

b) Maple animals
c) Mistletoe explosion
d) Foxglove wind

Q8: Draw the structure of a seed with proper labeling.
CH - 4 (FOOD AND HEALTH)
Q1: Circle the odd one out:

a) oil butter milk ghee

b) rice spinach potato wheat

c) fats proteins minerals carbohydrates
d) cheese milk eggs sugar

Q2: Complete the following table:

DEFICIENCY DISEASES DEFICIT NUTRIENT

a) Beri — beri Vitamin — B

b) Night blindness

c) Goitre

d) Scurvy

e) Rickets

f) Anaemia

Q3: What are germs? Give two examples.

Q4: Define health.

Q5: What is dietary fibre? Give two examples.

Q6: What are the symptoms of chicken pox? How can it be prevented?
Q7: What causes measles and flu?

Q8: Write two symptoms of cholera.

CH- 8 (OUR ENVIRONMENT)

Q1: What are the components of environment?
Q2: List two major sources of water pollution.

Q3: Define greenhouse effect.

Q4: Write two ways to save our environment.

Q5: Name two diseases caused by noise pollution.

Q6: Fill in the blanks:

a) is the main cause of air pollution.
b) Asthma is caused by pollution.

c¢) Soil is held together by the of trees.




d) We should minimize use of

Q7: Tick the correct option:

a) Burning firecrackers cause air / water pollution.

b) Oil mixes with water to cause land / water pollution.

¢) Dumping wastes like plastic bags cause air / land pollution.

d) We should encourage use of solar / water energy.

e) The substances that cause pollution are called microbes / pollutants.

SUBJECT - SOCIAL SCIENCE
CHAPTER -2
MAPS-GUIDE OF THE EARTH
Q1 Fill in the blanks

(i) There are main directions.

(if) The sub-directions are also called directions.
(iii) represents actual distances on the map.

(iv) Water bodies are shown in colour.

(v) A book of maps is called an
Q2 Name the following:-

() A representation of the Earth on a flat surface
(ii) The colour used for mountains on a map
(i) The map which shows the features such as continents, plains, rivers
(iv) Symbol used to show district

Q3 What are the advantages of a map?

Q4 What are the basic features of a map?

Q5 Define scale.

Q7 What are the disadvantages of a globe?

Q8 What do physical maps show?



Q9 Draw any ten signs and symbols used on a map.

CHAPTER -3

CLIMATIC ZONES OF THE WORLD
Q1 Arrange the jumbled letters to find the answers to the given clues.
(i) An element of weather climate: etpmrearute
(if) Height of a place above the sea level: tlaiutde
(iii) A city close to the sea coast: nechnia
(iv) The region lying between the tropic of cancer and Capricorn: optiralc
(v) It varies from place to place during the season: licamte

Q2 Name the following
() This region covers the places between Tropic of Cancer and the Arctic Circle

(if) This is the coldest climatic region
(i) The hottest climatic region
(iv) This varies from place to place during the season
(v) This is the other name of climatic zones

Q3 Define climate. Name the elements that affect it.

Q4 Why are places closer to the sea cool?




Q5 What is the difference between weather and climate?

Q6 Name the three climatic regions of the Earth and also explain their locations.

Q7 From a newspaper,collect the data from daily weather report for a week (1*June to
7" June),i.e., maximum and minimum temperature, humidity, pressure, cloud cover,
prediction of rainfall and any other information published. Collect this information in your
fair notebook.

Q8 Draw a neat and well labelled diagram of different climatic regions of the Earth.

CHAPTER -4
EQUATORIAL FOREST REGION-ZAIRE
Q1 Fill in the missing letters to find the answers to the given clues.

(i) Zaire’s highestpeak: M _ _gh__i_a

(il) A type of grass growing in Zaire: __mb _

(i) A bird found in Zaire: _ _am _ _ g _

(iv) An African language spokenin Zaire : T __i_u_ _

(v) A crop grown in the humid equatorial region: C _ s _ v _




Q2 Correct the following statements.
(i) The equator passes through the centre of Zaire.

(i) The largest city in Central Africa is Cairo.

(i) Zaire is bounded by Uganda and Burundi in the south.

(iv) The northern part of Zaire has Mediterranean forests.

(v) About 70% people in Zaire live in cities.

(vi) The chief agricultural export of Zaire is rubber.

Q3 Name the following:
(i) The region that lies on both sides of the equator
(if) This is the capital of Zaire
(i) The largest country in Africa
(iv) The highest peak of Zaire
(V) The earliest inhabitants of Zaire

Q4 Describe the climate and vegetation of Zaire.

Q5 Name the languages which are spoken in Zaire. Which is the official language of
Zaire.

Q6 Name the crops grown by the people of Zaire.



SUBJECT-COMPUTER

TOPIC

CONTENT

Ch- 2 More Formatting features in

MS Word

> Write a newspaper report giving an imaging
account of Ganesh Utsav in our city.

Type it in three columns in ‘Times New
Roman’ font and font size ‘12’ points.
Give a heading in ‘Arial’ font and center
aligned.

Insert a picture in the first column and
adjust its size according to column width.
Save the file with file name °
yourname_class’ in D:drive.

SUBJECT - DRAWING

Do page no — 19( Decorative item) , 30 ( Paper craft flower), 37 ( Gift box)
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